SUMMATIVE ASSESSMENT —I (2013) Lakdfyr
Ijh{kk&l 580025

SOCIAL SCIENCE / Lkekftd foKku
Class— X / &haIr & X

Time allowed: 3 hours Maximum Marks: 80 fu/kkZfjrle; % 3 ?k.Vs vf/kdre
vda % 80

General Instructions:

(i) The question paper has 36 questions in all. All questions are compulsory.
(ii) Marks are indicated against each question.

(iii)  Questions from serial number 1-16 are Multiple Choice Questions (MCQ). Each question

carries one mark.

(iv)  Questions from serial number 17 to 31 are 3 marks questions. Answer of these questions

should not exceed 80 words each.

(v) Questions from serial number 32 to 35 are 4 marks questions. Answer of these questions

should not exceed 100 words each.

(vi)  Question number 36 is a map question of 3 marks from Geography only. After completion,

attach the map inside your answer book.

lkekU: funsZ "k %

(i) bliz”u i= es adqy 36 iz”u gSaA izR;sd iz”u vfuok;Z gSA
(ii)  izR;sd iz”u ds Ikeus mlds vad fy[ks gq, gSaA
(iii) iz”ula[;k 11s16 rd cggfodYih; iz”u gSaA izR;ds iz”u 1 vad dk gSA
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(iv) iz”ula[;k 17 Is 31 rd izR;sd iz”u 3 vad dk gSA izR;sd iz”u dk mRrj 80 “kCnkas Is vf/kd
ugha gksuk pkfg,A

(v) iz”ula[;k 32 1s 35 rd izR;sd iz”u 4 vad dk gSA izR;sd iz”u dk mRrj 100 “kCnkas Is vf/kd
ugha gksuk pkfg,A

(vi) iz”ula[;k 36 dsoy Hkxwksy Is ekufp=IEcU/kh 3 vad dk iz”u gSA ekufp=ij mRrj fy[kus
ds ckn bldk sviuh mRrj igfLrdk ds vUnj j[k dj ck/ak nhft,A

2
1. Which was the fabled city of gold ?
1
@) El Paso (b) El Dorado
(c) Mexico (d) Lima
fhaefaal & srER frefafad § 9 9 %1 v’ SiF 91 a2
@ T (o) O
() ek (d) il
OR
In 1911, 67 percent of the large industries were located in which one of the following places in India ?
(a) Bengal and Bombay. (b) Surat and Ahemadabad.
(c)  Delhi and Bombay. (d) Patna and Lucknow.
1911 ® Frfafaa # @ wra & e w&mil W g79, F8a e fiog 972
(a) A T (b) T T STEHEE
(c) feeefl o s (d) T T e
OR
Name one factor which changed the form of urbanisation in the modern world.
(a) Capitalism (b) Socialism
(c) Industrialisation (d) Unemployment
98 SH-91 G wR o1 o smeyfren fava # sl & ey 1 afiafda fwman?
(a) Tofrem (b) TSR
( S (d)

2. What was the Bretton Woods System? 1

(@) Post war military system
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OR

(b) Postwar political system
(c) Postwar international economic system

(d) None of these
SH-g8d AT F1 o ?

(@) REARNE R R C )|

) I
() FEIT SITUE steferaeen
@ I | W HrE e
OR
When did the earliest factories come up in England ?
(@) in 1720s (b) in 1730s
(c) in 1740s (d) in 1750s
Freie | Wad Eel FREM! el Gell ?
(@) 1720 % TR H (b) 1730 % <9 §
(c) 1740 % T d) 1750 <v

,,City of Bombay Improvement Trust “ was established in :

OR

(a) 1898 (b) 1918 (c) 1928 (d) 1938

Tt sifeh wTvel gyetie TR’ Tl fefafaa 5 § forg od 8 g o ?
(@) 1898 (b) 1918
(€) 1928 (d) 1938

Who among the following brought hand - printing technology into Japan around 768-
770 AD? 1 (a)

Buddhist missionaries. (b) Japanese Traders.

(c)  European Traders. (d) None of the above.

768 - 770 3. o ST~ fr=fafead § & #F a1 | SR HI ahArh Tt ST 37T ?
(a) Al FERE (b) ST SR

() T = (d) SHE H H HE T |

The earliest novel in Marathiis :

@) Ganga Jal (b) Panchtantra

(© Yamuna Paryatan (d) Kadambari
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e § T8al SuaTd o :

(@ T

(©)

4, 1
When did the first printing press come to India ?

(@ In the middle of the 16t century

(b) In the middle of the 17t century

(c) In the middle of the 18t century

(d) In the middle of the 19t century

Rd H ggen fUfén 99 wa o T ?

(a) 163??131&'3%51:{%?113 (b) 17373131@?%1?9?13

(©) 'ISEﬁW%HHWﬁ (d) IQEITW%WW'ET'
OR

The author who showed the darker side of colonialism in his novels was :

@) Helen Hunt (b) Sarah Woolsey
(c) Joseph Conrad (d) Daniel Defoe
forg ek A 319 U] | SUfAETE sl ThNIHE Y8 U1 ?
@ T (o) A
SIH SHAE e W
(©) (d)
5. Which of the following soil is known as regur soil ? 1 (a) Black soil  (b) Red soil
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6.

7.

9.

(c) Laterite soil (d) Arid soil
frefafaa # & fFa wR 1 g1 i TR ge1 el a1 8 2

(a) Tl (b) e
() T (d) = g
Which one of the following is an example of Rare Species ? 1 (a) Black Buck  (b) Blue Sheep
() Hornbill (d) Mithun
freferfaa & & #iF gely Sfd =1 TF See & 2
(a) pIeTl fexm (b) et ‘ﬁ?:’
(¢ e (@ M
Which of the following is NOT the cause of water scarcity ? 1
(@) Rapid growth of population
(b) Uneven distribution of water resources
(© Constructions of dams and reserves
(d) Increase in demand
frefafad & @ SF ST i T &1 TH HROTTE 82
@  SEen ¥ e gfs
(b) STl WETHE 1 TEEE faam
(© Sl s i
(d) o o ‘qﬁ
Which one of the following prices is announced by the government in support of acrop? 1 (a)
Moderate support price
(b) Maximum support price
(c) Influential support price
(d) _ Minimum support price i
¥ e T TR & g FrAfoiEd H 9 S o1 oo g fawar s 2
(@) 9 YT qo
(b) sifeRay wHfa Hgea
© guyret AT goa
@ g qod
Which one of the following ethnic groups is related to Belgium ? 1
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(a) Muslims and Christians
(b) Dutch, French and Germans
(© Christians and French

(d) French and Dutch

frefafaa § & SF-91 g (SE) w9 Sfesm 9 et &2

(a) O o $EE
(b) g9, e Ud oHA
© TR %A

(d) T

10. The other name for regional government in India is: 1

@) Provincial government (b) State government (¢) Community government (d) None of these

IRA H & R 1 E A ¢

(a) : T |

(¢) TSI WA (o) S A

(d)

11. The subject of Computer Software comes under which of the following lists ? 1

@) Union List (b) State List

(©) Concurrent List (d) Residuary List
‘e AR 1 fava frefefaa # @ frg o=t & eria smar €2
@ T 0 T

(¢  WEAEH () as
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12.

13.

14.

15.

What type of state is India ? 1

(@)  Democratic ()  Secular

(© Welfare (d) All the above
I fohd YR 1 7T © 7
(a) CHTI () R
() AR d) IR H

India“ sHDI rank intheworld is: 1

@ 125 (b) 115
© 126 d) 134
fava & wRd 1 9 foshra geekich 1 IS foha T 2
@ 125 (b) 115
© 126 d) 134

Which of the following is the development goal of landless rural labourers ? 1

@) Freedom to decide what he is able to do.
(b) More days of work and better wages.

(c) Less days of work.

(d) Good climate conditions.

Fferfia § & T fER g F faw S w2
(@) TR O i T o o o e 3 A 2

(by e fel =1 el qen e weigd

() FH fel & fore e

(d) TSI ey geEt gemd

Under employment is a situation when people : 1
@) do not want to work.

(b) are not paid for their work.

(© are working in alazy manner .

(d) are working less than what they are capable of doing.
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39 SRSITRY ! frafd 7 -
(@) N 1 HET T8 9Rd ©

) AT o1 Sl & forw, e T8l R S g |
© ST & 9w R R
() T 3791 &7 F HH HH B © |

16. Tertiary sector has become an important part of Indian economy on accountof : 1
(@) development of agriculture and industry
(b) rise in levels of income
(© both (a) and (b)

(d) none of the above

JaATaeh &5 R ALTawe i Uk Heedqul 91T 1 o 71 & 2
@  F T v ¥ o & R

(b) % &R H Jfg & R0

© (@) T () T FFR

(d) ~ SYIH H I T |

17. What was the impact of technology on food availability ? Explain with the help of examples. 3
TrEfTeht 1 ST 1 ST W 1 W9Te TS1? 3SR § il Tq¥ il |
OR

Why did the East India Company appoint Gomasthas in India ?
IRA | $% gfvean weot = st i e =& fha 2
OR

Why well off Londeners supported the need of building houses for the poor in the 19 th century ? 19

of IS H YT deaangdi 7 Tl & [T HhM S1H i & bl GHY =1 TR ?
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18.

How did print help connect communities and people in different parts of India? Explain with 3
examples.

g1 9 9Rd & fafvm aril § wqerEi o @ &1 Sed &1 ®@ fF5g yhR fFE? et grm o

hIfeT |
OR “Leading Indian novelists of the 19th century wrote for a national cause “. Do you
agree with the statement ? Justify your answer.

' e Il & ST YR STAEERRI U 369 il S H WaeR fo@n 1!’ o491 o9 39 FeE 9
TEHd § 7 319 ST i Y Hiforg |

19. Explain the role played by print in bringing about a division in the Roman Catholic Church. 3

I Fefoss =< & faars # qgor Seesfa 1 fas &1 298 ST |
OR

How did novels depict the lives of peasants and low castes ? Explain with examples from India.

SU=ITET o g foRemi qen e sfadi & st o1 forg g giian 7 € 7 YA 9 3SRl ol 39 R
T Tl |

20. Give three ways in which early printed books closely resembled manuscripts. 3

IE-3& | S fhae fm @9 aleni @ aogfelel @ faedt sod foe adt of ?

OR

,.Novels helped in creating a sense of social awareness in India“ . Explain.

" Syl uRd o gt ST w9 6 fafia e § Heg weH @t el St |
21. Explain any three steps taken to solve the problem of land degradation in India.

IR | 4y TR 1 HHE o HHHH 6 U Se1T MU fhwl dH S9El Sl T8 HifST |

22.

What has been the contribution of the Indian Wildlife Protection Act for protecting habitats ? 3
Explain with examples.

TR Fsiia (T&T97) Tffam o1 o= STTamd T&791 § o’ IreH W17 3SRl |igd T hifsn

23. ,Large multi - purpose projects also lead to land degradation.” Explain. 3
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‘gt TgSeNia afEeTe i et 1 off SR g ¥ 1 s i |

24. Why is power sharing necessary in democracy ? Explain. 3

ehdsl H 91 1 HEeRl i E9as g 7 ATl Hhifu |

25. “Every social difference does not lead to social division.” Explain the statement 3
‘& mmfieR fafieran, amfes fay=H &1 §9 76 od’’ | 39 U S Al S |

26. Distinguish between overlapping and cross cutting differences. 3
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27.

29.

30.

31.

32.

Tafvmerameil o s a1 Shid § A< T Hifod |

Explain any three forms of communal politics with example. 3

IR & T AT TSI o Teheal dF ©ul ] S i |

28.
Define the following terms :

Q) Literacy Rate
(2) (IMR) Infant Mortality Rate
(3) (NAR) Net Attendance Ratio.

frefafaa 9ei =61 afiafia sy |
1) HIETAT &

) gy =

(3) EMIEREIGRERRIN

What is Public Distribution system ? Explain its two advantages. 3

HIASeh TaaXor Fome 91 © 7 S8k ol @14l ol 9U Shiford |

Describe the role played by National Rural Employment Guarantee Act in improving the 3

employment situation in India.

qRd § U5 6 feafd § gur o & faw ug ardtor Ssmm it situfm g e 1 it
U SHifeTT |

Describe any three problems faced by workers in the unorganized sector. 3

SETfaq &5k H WGl o THeT 3T aTell fohegl i THEanat] s i shifed |

How did the global transfer of disease in the pre-modern world help in the colonisation of the 4

Americas ?

ol -1y feh fava # S o Afvas gar 3 skl 9l & Sufqesiieie § fa YR uee &t of ?

OR

Why did some industrialists in 19th century Europe prefer hand labour over machines ? Explain.

1971 HEl H 9 % P SURTYIG T 1 AY&T 819 U FH FTA dTel 7 bl ST TS 741 6T 97
AT TS |
OR
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33.

34.

35.

36.

“Cities developed at the cost of ecology and environment”. Explain with examples.

‘el o1 faenra mffeafaen R Tfewor & A T gsT &' Sl St TIE hifeTy ?

Write any four characteristics of commercial agriculture. 4

eI HiY i fhl =R foemaet i fataw |

Distinguish between a Federal form of government and a Unitary one. 4
e TIRR TT Uh T TN o ofe 3T T8 hifald |

Mention any four advantages of working in an organised sector. 4

grfad &5 § hM L o fohel = T4l &1 3eerd Hifeg |

Three features (A) (B) and (C) are marked on the given political map of India. Idnetify these with 3

the help of the following information and write their correct names on the lines marked in the map :
(A) A soil type

(B) A state with largest area under permanent forest

© Largest producer state of Jowar.

W%W@WWWWEW(A)’(B)Q(QW%I frefafaa gemisii #t 9eg 9
3% edIe e qEfas # 3iferd oM W 3T 98 AW fafeu

(A)  Th T FRR

(B) T I % WeAifeh &hel de I9

(C)  Tokj dk Icls cM+k mRiknd jkT;

OR
Locate and label the following items with the appropriate symbols on the same map

0) Periyar Tiger Reserve
(ii) Hirakud Dam

(iii)  Sariska wild life sanctuary.

St wrAfe W Frefafiad wai #1 SugH Gohdl 5 <uiEe e S A fafaw
@)  fEm e R

(ii) miﬁﬂ

(iii) ﬂﬁwwﬁavﬂﬁ%ﬂ

36B. The following question is for the visually impaired candidates only in lieu of Map Q. No. 36 1

Name the National Park in West Bengal.
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What is the colour of the arid soil ?

Name the wildlife sanctuary in_Rajasthan.
U9 hael g st q%n&hﬁa

Tfy=m ST & UPE M &1 AW fateu
3[R ST 1 T FE?
TSI o 9 it Igfaer o1 4M fafay |

WO HEAT 5 T W LN
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